ER(EH) SIRFAE KX

*EEHTIE%KEK
TM7E1RA1BRE

1 EfthEE-ERFH
(BifiI:a) (B F)

EHthmiE| SM@ RE4E ERXFH 4 [E RE4E

=R s 854 921 5~10a% i 16 18

JKH 0 0 10~20a3kiE 13 14

el 70 75 20~30ak 8 7

& 2 2 30~40a3k 3 4

% 15 15 40~50a%kH 4 5

ZDih 60 65 50all 3 3

B 1,001 1,078 it 47 51

TRERAAET AEHET)EE ST 21 251 (~5askiH) 4 o

2 BEFHFE

(B PF)
X5 S E RESE

TEREEREFR %z 50 02

BAR-RHLEERE 30 31

4bﬁ$féﬁai=';& 13 12

E{F7L (REEA) 3 4

3 JREXEE (B m)

E=—ILNYR|HSR/INDR
% 1,678.2 792
RESE 1,678.2 792

EXREMR(NER)

1 REER (B A\) 2 BEMEE (B A)
X 43 EH =S &t E/\ 5 S at
G 66 68 134] 5[ 55 26 81
RESE 76 78 154] EE&E 59 28 87

3 BREmERER (BB m)

B {Eih INME#D B
mA 5 HmA Mo il Mo =X

=E s 59,252 15,791 2,341 8,032 61,593 23,823 85,416
GIE:3 64,098 15,751 2,564 9,073 66,662 24,824 91,486

7K H 0 0 0 0 0 0 0
A4 0 0 0 0 0 0 0

£ 10 224 0 0 10 224 234
HIE 10 224 0 0 10 224 234

B3 850 0 671 0 1,521 0 1,521
HIE 850 0 671 0 1,521 0 1,521
Rt 3,067 3,588 320 0 3,387 3,588 6,975
HIE 3,127 4,088 320 0 3,447 4,088 7,535
ZDfth 3,729 2,339 0 0 3,729 2,339 6,068
HIE 4,189 2,339 0 0 4,189 2,339 6,528

g 66,908 21,942 3,332 8,032 70,240 29,974 100,214
RIS 72,274 22,402 3,555 9,073 75,829 31,475 107,304

S E R -5,366 -460 -223 —1,041 -5,589 -1,501 -7,090




